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making numbers by multiplying two surds no caloulatorplease

A (1) @+V7)@E-7)=2? (B) (1) @+bVc)3-bVc)=1
(2) (@+Vb)a-Vb)=3 (2 (B+bVc)8-bvc)=1
(3) (a+Vb)a-Vb)=1 (3) (a+bV3)a—bV3)=1
(4) (@a+bVc)a—bVc)=4 Sainnitc be (4) (@+bV5)a-bV5)=1  bcannotbe0
(5) (a+bVc)a-bVc)=5 e () (a+bV11)a—bV11)=1
can you make the other can you make 1 in at
digits in this way? least three other ways?

in more than one way?

© (1) (b+Vb)b-Vb)=6 () (1) (avb+vVc)avb—Vc)=5
() (a+vVa)a—Va)=42 ) (aVb+vc)avb—Vc)=13
(3) =90 (3) (avb+Vc)avb-Vc)=29
(4) =110 (4) (@aVb++Vc)avb-+c)=38

(5) =420 (5) (avb+Vc)avb-Vc)=43
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powers of surds

what are the surd square roots of these surds?

(1) 9+4V5
(2) 25+4V21
(3) 7-4V3
4) 8+2V7

(5) 36— 10V 11

what are the reciprocals of

these surds?
(1) 2+43
(2) 5-2V6
(3) 3+2V2
(@) 7-4V3
(5) 8+3V7

try to find some other
examples

(6) 36+16V2
(7) 49+20V6
(8) 29-12V5

(9) 52+16V3

(10) 64-24V7

what are the cube roots of
these surds?

(1) 26+15V3
(2) 7-5V2

@) 38+17V5
(4) 54-30V3

(5) 9V3+11V2

(11
(12)
(13)
(14)

(15)

no calculator please

1M1 +4V6
8-2V15
18— 1272
55 + 30V 2

42243

what are these in surd form?

O
@)
©)

@+4V3)~%
(@+6V2)~%

(15-10V2)~*




